FURTHER TRIGONOMETRY - CHAPTER REVIEW

1 The minute hand of a clock is 1.2 metres long. How far does the tip move in 40 minutes?
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2 An arc AB of length 6 cm subtends an angle of 56° at the centre of a circle. Calculate:
(@) the length of the radius (b) thelength of the chord AB. A
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4 Solve, for-r<x< m 6cos’x—5cosx+1=0.
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Ba  x=F0%3° or x=-1.5%
l;,.BFOA or x_:—I.LSraA.

5 Anarc AB of a sector of a circle is % metres long and subtends an angle of 60° at the centre, O, of the circle.

Calculate: (a) the length of the radius ‘A
(b) the area of the sector AOB (correct to 1 decimal place) \
(c) the length of the chord AB (correct to 1 decimal place). O 0? Of-'r/s ‘\. &
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6 Find all values of 8 between 0 and 27 for which:

(@) sinf=-0.5 (b) cos6=0 (c) tanf=-1
(d) secO= 23 (e) cot@=43 (f) cosecO=+2
Y b = ~0.5 b=3r or &= 1T
=21
D) wb-0 e 8=Th or B=3L
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7 Draw the graph of y = cos 2x for = < x < &. On the same set of axes, draw the graph of y = —%‘

Use your graphs to solve the equation cos2x = —f;—.
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9 Express in radians, in terms of & (a) 45° (b) 240° (c) 160° (d) -210°
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10 Express in radians, correct to 4 decimal places: (a) 65° (b) 281° (c) -100° (d) -326°

Y 65x T - 1.1345md

120
b) 281 x T = £.904hrod
180
9 _|00 ¥T_ = — |. F455md
(80

o) _3fx 1~ -5.6898 red
§40)

11 Express in degrees the angles whose radian measures are: (a) %r (b) 7% (c) —213'77[ (d) —127!—

5 ]
b) #r « 180 < 2107
6 m
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12 Express in degrees and minutes, to the nearest minute, the angles whose radian measures are:
(@) 2.6 (b) -14 (c) 0341 (d) -3

a) 1.6 |20 _ 8058/
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bj—-l'é‘ )(_1_8,0__ =—80° IcB
L /
o) 0.34) x 180 = 19°32
m
y) —3 x 180 _ - 53

-

13 Simplify: (@) sin(mr+x) (b) cos(2m—x) (c) tan(mr—x)
¢) G (THx) = — A

£) C@(ZTF»L): Cm(»x,\ = L8 X

: _ ML X
(,) tGM(Tr#'Z):M—Q.: kb - taA
cw[Tl_’ x) = i
14 Write the exact value of: (@) cosm (b) lan%r (© 51"24& (d) COSSTI
a) x> T = — |
s [ i |
b)faxxl“:=m//6)= 2 :l\F_‘
) ma 3T - 12
v 2
&) (ed OT = L
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15 Solvefor0<x<2m (@) sin x=—; (b) sin x=+/3 cos x (c) V2cosx+1=0
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16 simplify: (@) sin(Z x| ) cos|Z+x) (©) tan(Z+x)
a/ s [ | = X
2
L) (& {JI_ +x> = m(br*l"— “L")
5 “
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